Math 152 Sec SO9NO1 - Test 3 Mar 25 2009

Question 1:

1
(a)[5 points] Find the exact value of cos™ [cos (?)] .
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(b)[5 points] Express as an algebraic expression in u: sin (cos‘1 u) . Your answer should not
contain any trigonometric functions.
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Question 2:

(a)[3 points] Determine the exact value of cos (?;) (Hint: T3 A {/%) )
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(b)[3 points] Determine the exact value of sin {sin;1 (?) + cos"l(—l)} .

Sw\[slv\"\ )+ cos (- ﬂ

(c)[4 points] Find the exact value of sin (—
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)

o0] 3

p. 3of 7



bk U= S

Math 152 Sec SO9INO1 - Test 3 Mar 25 2009

Question 3:

(a)[5 points] Solve the following for 0 < 0 < 2m:  2cos?6 +5cosd —3 =0

let w=os® : 2.%45U-3 =0
(Zx-1) (ut3) =0
du ~| =0 N A+3 =0
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(b)[5 points] Solve the following for 0 < 8 < 2m:  cos(20) =sind
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Question 4:

(a)[5 points] A surveillance plane flying at an altitude of 2000 metres spots two suspicious ships
in the distance directly in line with its flight path. The angle of depression to the more distant
ship is 15°, while that to the closer ship is 21° as shown in the figure below.
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Find the distance between ﬁe two ships. Round your answer to the nearest metre.

tau (35°) = 7;:)3

.°a. X = 2060 teun (:}S'u) - “}
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Town ((,c] °) =

9

0 4= 2 000 e (5‘1")

oy = 2ootan(FT) — 2000 tan (8°)
|x = 2254 vi)
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(b)[5 points] Solve for all missing sides and angles in the following triangle. Round final answers
to one decimal place.

C%= 10%37= 2 (1s)(3)cos (50°)

oo L= \)\®O+°\ - GO oS (s‘of*)“ 2~ ¥.3924

3= oo+ — 2ac cos(B)

e CaE'(az*Cl‘ b*
a=3 2. 0.0

~\ e x
= os [z% ¥3324 " —\0 ] = 114, tog0°
(1) (3)(9%.3924)

oo =30 —50~-114.1050 = /S.992 D

o cmed, B~ 1q.1°, A= /599
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| Question 5 [10 points]: Solve the following system of equations using matrix reduction (no
| credit will be given for using any other method). Clearly state the row operations used at each step
and clearly state the solution set.
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“: F+22 = F+t2(R) = 3

K= ~H %~ T=443-(a) = \
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